SAP ABAP table AISDK SDB DISMP {Copy of Structure DISMP for SDB Connection to SDK}

TOKBA

AISDK SDB DISMP-ISMTP = TOKBA-ISMTP ) | CLIENT [CLNT (3)]
-7 ISMTP [CHAR (2)]

o TOKBC
} CLIENT [CLNT (3)]
AISDK SDB DISMP-ISMART = TOKBC- ISli/L_Af_{"{ _____ 0N |ISMTP [CHAR (2)]

ISMART [CHAR (2)]

_____________________ TOKBD
0N _AISDK SDB DISMP-ISMCOD = V AISDK ISMCOD-ISMCOD 0..N | CLIENT [CLNT (3)]
o APPLAR [CHAR (20)]

S~a V_AISDK ISMCOD
- CLIENT [CLNT (3)]
0..N |ISMTP [CHAR (2)]
ISMCAT [CHAR (2)]
ISMGRP [CHAR (8)]
ISMCOD [CHAR (4)]




